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0.0-1.2 -1.20 1.4 0.4
0.00 1.4 1.2 1.40 0.80 1.2 1.7 1.0
0.00 0.3 0.3 0.85 0.75 0 0.0 0.0
8.00 0.3 0.3 0.30 0.30 8.0 2.4 2.4
16. 00 0.3 0.3 0.30 0.30 8.0 2.4 2.4
23.5+0.5 24.00 0.3 0.3 0.30 0.30 8.0 2.4 2.4
23.5+0.5 24.00 0.7 0.3 0.50 0.30 0 0.0 0.0
29.6+0. 4 30.00 0.7 0.3 0.70 0.30 6.0 4.2 1.8
INEE 31.2 13.1 10.0
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0.0-4.9 -4.90 0.0
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EREV)Y- R 1.00 * 24.0
ERa RC40~0 t=10cm 5,90 * 24.0
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EmEE 5,90 * 24.0
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M
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0.30
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8.00
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24— 18-8-258B 0.900 * 0.900 #* 0.950 - 0.600 * 0.600 * 0.800 = 0.482 m3
T 1/4 % 3.142 * ! * - m3
B3 A B7VS300 0.350 * 0.300 * 0.150 1 = -0.016 m3
BEE2BF350 0.300  0.300 * 0.150 1 = -0.014 m3
#738VS300 0.300 * 0.300 * 0.150 1 = -0.014 m3
5 b-Fu4" T-25 EFHE T REEYIEERETRP22& Y = -0.010 m3
total = 0.43 m3
B T 0.000 % 0.950 * 4 + 0.600 % 0.600 * 4 = 4.80 m2
ELR 0.600 * 0.600 = 0.360 m2
NKTF—FIEERIELY A% L LAZRHEKIERZ@E = 0.300 m2
T 1/4 % 3.142 ! - m2
B3 A B7VS300 0.350 * 0.300 * 2 = -0.210 m2
BEERBF350 0.300 * 0.300 * 2 = -0.180 m2
#728VS300 0.300 * 0.300 * 2 = -0.180 m2
Y- HEEL Y 0.600 * 0.081 % 4 = -0194 m2
total = 4.8 m2
HHME RC40~0 t=15cm 1,000 * 1.000 * 0.150 =  0.20 m3
HEETE 1,000 % 1.000 = 1.0 m2
oo E T-26 HELAR ZRh—K E0Q2HE) SEZESE49.8+18.5=68. 3kg/# = 1 %A
BE£E H>1.OmDIGE . LEIZIG L THRET 5 = &




